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L gEET T4 ma 48 190 HH 291 291 | R2.5.1 R12.12.31
2| EETh TS 2 JEx 538 H 878 878 | R2.5.1 R12.12.31
] [ 2E ] TS Jbx 691 HH 297 297 | R2.5.1 R12.12.31
4 gEETh TS 2 TR X 1341 H 1,321 1,321 | R2.5.1 R12.12.31
5| ifpEE T4 S 1939 FH 1,946 1,946 | R2.5.1 R12.12.31
6| VT EHETA R WX 1096 FH 2,458 2,458 [ R2.5.1 R12.12.31
7| MR T4 SiFS 1483 FH 961 961 | R2.5.1 R12.12.31
8| VT EHETA R X 1527 FH 890 890 [ R2.5.1 R12.12.31
9| pEET T4 LR 1245 FH 1,137 1,137 | R2.5.1 R12.12.31
10| AT T4 2 P X 1902 H 1,064 1,064 [ R2.5.1 R12.12.31
NN 2 ] RIS R S 1930 i 1,048 1,048 | R2.5.1 R12.12.31
12| g FHETA R [iE1ES 2102 i 1,014 1,014 | R2.5.1 R12.12.31
13| g THATS R PEX 2117 H 691 691 | R2.5.1 R12.12.31
14 WgEe ST T3 474 H 2,041 2,041 | R2.5.1 R12.12.31
15 g T4 TLHX 1280 FH 593 593 | R2.5.1 R12.12.31
16 FHHETA R TLHIX 1351 i 474 474 | R2.5.1 R12.12.31
17| g T4 TLHX 1352 H 936 936 | R2.5.1 R12.12.31
18| TSR X 1485 H 627 627 | R2.5.1 R12.12.31
19 T4 2 X 1814 H 414 414| R2.5.1 R12.12.31
20| MEHET TSR S 1945 H 941 941 | R2.5.1 R12.12.31
21| MgEETH T4 2 X 1946 H 139 139 | R25.1 R12.12.31
22| MEHETH T4 LIRS 2099 M 614 614 | R2.5.1 R12.12.31
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23| MpEETH T4 [E1ES 2214 HH 1,148 1,148 | R2.5.1 R12.12.31
24| MEEETH TS 2 X 2281-1 H 682 682 | R2.5.1 R12.12.31
25| MpEET TS TR 1339 HH 1,379 1,379 | R2.5.1 R12.12.31
26| Mg TS 2 P X 1832 H 188 188 | R2.5.1 R12.12.31
27| MpEETH TS A X 1862 HH 953 953 | R2.5.1 R12.12.31
28| Mg TS 2 P X 1903 H 2,990 2,990 [ R2.5.1 R12.12.31
29 VAT S H T B EHI 62 H 807 807 | R2.5.1 R12.12.31
30| T S FH T pas 940 FH 4,288 4,288 | R2.5.1 R12.12.31
31| MpEETH ST P JHJE 38 FH 1,278 1,278 | R2.5.1 R12.12.31
32| Mg S BTG oy EE 1321 FH 513 513 R2.5.1 R12.12.31
33| MEEETH S H HT e B 438 FH 2,802 2,802 [ R2.5.1 R12.12.31
34| HEEET TEEERT FAR b 77 FH 3,336 3,336 [ R2.5.1 R12.12.31
35| MEEET HEHERTRA A ik 237 i 1,968 1,968 | R2.5.1 R12.12.31
36| EEET TR EEHT FAR ik 267 i 1,175 1,175 | R2.5.1 R12.12.31
37| YEEH LR AR A EE4h 1372 H 1,305 1,305 | R2.5.1 R12.12.31
38| T - FHIT P B 1370 i 911 911 | R2.5.1 R12.12.31
39| MgEET VBT &t 1375 H 2,511 2,511 | R2.5.1 R12.12.31
40| MEHETH - FHIT P B 1457 i 4,259 4,259 |  R2.5.1 R12.12.31
41 WgEETh Y- R T Y &AL 1458 FH 3,000 3,000 | R2.5.1 R12.12.31
42| WEHEETH - H HT =55 T 2026 H 471 471 R2.5.1 R12.12.31
43| MgEETH ST =45 T 2040 F 4,117 4,117 | R2.5.1 R12.12.31
44| WEHETH S BT =55 R 2215 H 1,076 1,076 | R2.5.1 R12.12.31
45| MgEETH ST =45 itk 2255 F 3,157 3,157 [ R2.5.1 R12.12.31
46| WEHET - BT =45 R 2231 M 1,399 1,399 | R2.5.1 R12.12.31
47 MREETH - FH T =45 Bt} 2338 H 2,318 2,318 | R2.5.1 R12.12.31
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48| VipEET S HT =45 Fre it 2344 HH 2,812 2,812 [ R2.5.1 R12.12.31
49| MgEETH ST =55 Fre 2345 H 1,388 1,388 [ R2.5.1 R12.12.31
50 Mg S i T (L) 1| T 554 H 502 502 | R2.5.1 | R12.12.31
51| g S H ETAART) 1 TR 555 H 997 997 | R2.5.1 R12.12.31
52| MpEET S H BT JIH 359 HH 2,501 2,501 [ R2.5.1 R12.12.31
53| Mg S FH T WE A B 466 H 477 477 R2.5.1 R12.12.31
54| MgEETH S FH T W B 467 FH 580 580 | R2.5.1 R12.12.31
55| Mg - HTE s 468 FH 359 359 | R2.5.1 R12.12.31
56| MEEET S H HT e BR7E 611 FH 707 707 | R2.5.1 R12.12.31
57| Mg 32 F T BR7g 612 FH 1,618 1,618 | R2.5.1 R12.12.31
58| MEEET HEHERTRA A (S 245-1 i 1,063 1,063 | R2.5.1 R12.12.31
59| HEEET TEEERT FAR b 245-2 FH 119 119 | R2.5.1 R12.12.31
60|  MEEET HEHERTRA A Mk 245-3 i 20 20 | R2.5.1 R12.12.31
61|  MEHET TR EEHT FAR ik 245-4 i 293 293 | R2.5.1 R12.12.31
62|  YEEH LR AR A Mk 245-5 H 32 32 R2.5.1 R12.12.31
63| VEET - TS ShJH 1581 i 931 931 | R2.5.1 R12.12.31
64|  MEHEET - FH TP S SHEH 7 H 1,143 1,143 | R2.5.1 R12.12.31
65|  MEHET S H WY < SH 198 i 2,033 2,033 [ R2.5.1 R12.12.31
66|  MEHEET - FH TP S SHEH 225 FH 1,888 1,888 | R2.5.1 R12.12.31
67|  MEHET TEEEHT FAR ik 732-1 i 2,323 2,323 [ R2.5.1 R12.12.31
68|  EET M HEET AR A AFf 891 H 1,140 1,140 [ R2.5.1 R12.12.31
69|  MEHET TREEHT FAR R 892 H 1,396 1,396 | R2.5.1 R12.12.31
70 EHEET HHEET AR A AFf 893 H 366 366 | R2.5.1 R12.12.31
71 MEEE TR T 7 B 887 M 1,210 1,210 | R2.5.1 R12.12.31
72| A L] FE T P 925 H 1,303 1,303 [ R2.5.1 R12.12.31
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73| EEE HEEENT FE P PEAR 1294 3,751 3,751 | R2.5.1 R12.12.31
74| MEEETH AT IR K] 1597-1 742 742 | R2.5.1 R12.12.31
75| yEEE HEEENT R )T WA H 387 1,335 1,335 | R2.5.1 R12.12.31
76| VT HEHERT R 4 a5 H 488 2,266 2,266 [ R2.5.1 R12.12.31
7T EE HEEENT R )T Pa51H 491 1,451 1,451 | R2.5.1 R12.12.31
78| Mg HEHERT R 4 a5 H 492 1,297 1,297 | R2.5.1 R12.12.31
79| gEEh EEE TR ) iy ALHR 661 2,989 2,989 [ R2.5.1 R12.12.31
80| Mg TEHERT B4 i RLER 704 4,027 4,027 | R2.5.1 R12.12.31
81| ypHEtTH TEHERT B B 33 957 957 | R2.5.1 R12.12.31
82|  EET L] A B 202 1,992 1,992 [ R2.5.1 R12.12.31
83|  MEHET YEEENT 47 ek 662 5,179 5179 | R2.5.1 R12.12.31
84|  WEHEETH | VERERTARRTHREE| L & 387 3,000 3,000 [ R2.5.1 R12.12.31
85|  MREETH | VEHEETARTHCEE|  LVE 3 388 4,198 4,198 |  R2.5.1 R12.12.31
86|  HEHT TERHER] 8T H Py 14 1,821 1,821 [ R2.5.1 R12.12.31
87| YEHTH TR VE T H Py 15-2 2,328 2,328 [ R2.5.1 R12.12.31
88| MM TN i i) FE 302-1 2,655 2,655 [ R2.5.1 R12.12.31
89|  YEHTH TEHENT ALY — R 325-1 3,000 3,000 [ R2.5.1 R12.12.31
90|  MEHETH TR T AL — iR 325-2 4,083 4,083 | R2.5.1 R12.12.31
91| YEEH TEHENT G B EE 88-1 217 277 | R2.5.1 R12.12.31
92| EEETH MEERT IS A BT 538 768 768 | R2.5.1 R12.12.31
93| EET TEHERT G B ET 589 706 706 | R2.5.1 R12.12.31
94 ViEEET TEHENT R Al 980 503 503 | R2.5.1 R12.12.31
95|  YEET LT S22 IR 157 3,267 3,267 | R2.5.1 R12.12.31
96|  MEHET TR HT N7 IR 158 3,000 3,000 [ R2.5.1 R12.12.31
97| R REALINVA 52 H—f 465 1,172 1,172 [ R2.5.1 R12.12.31
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98| MpHET HEEENT (L S 654-3 HH 679 679 | R2.5.1 R12.12.31
99| WEEETH | VEEERTARRTHREE| L& 279 H 3,298 3,298 [ R2.5.1 R12.12.31
100|  HEHEETH VT T el 229-1 M 4,135 4,135 |  R2.5.1 R12.12.31
101| v TEEEE] VN B B 21-1 H 2,074 2,074 | R2.5.1 R12.12.31
102|  HEHEETH HEEEMT VG /)N R 176 HH 5,042 4,742 | R2.5.1 R12.12.31
103 WEEET NN Fi 274 H 794 794 | R2.5.1 R12.12.31
104| g EEEMT BN P RIR 243 FH 2,947 2,947 [ R2.5.1 R12.12.31
105  pEET T 5 1 FEOY]) 314 H 2,047 2,047 | R2.5.1 | R12.12.31
106| v R B oY) 322 HH 978 978 | R2.5.1 R12.12.31
107| VT RN ORI 47 FH 783 783 | R2.5.1 R12.12.31
108| vl {i3e SRRy Hi 180 i 9,801 9,701 | R2.5.1 R12.12.31
109 VT T T B 230 FH 2,506 2,506 [ R2.5.1 R12.12.31
110 vigseTh HEEENT IS B SERS 283-1 FH 2,477 2,477 R2.5.1 R12.12.31
11| EEeh MEERT IS A BT 436-4 H 441 441 R2.5.1 R12.12.31
12 gEed MRS H ET 508-1 H 627 627 | R2.5.1 R12.12.31
113 fgEeh MEERT IS A BT 519 H 1,242 1,242 [ R2.5.1 R12.12.31
114| e LI ZE T Ae e 1129-1 H 1,745 1,745 | R2.5.1 R12.12.31
115  MWEHEETh TN S5 TR 636-1 i 1,235 1,235 | R2.5.1 R12.12.31
116 AT LT S5 T 636-2 H 2,118 2,118 [ R2.5.1 R12.12.31
17| W o ] T T 2001-67 i 3,353 3,353 [ R2.5.1 R12.12.31
18| s PR T Tt 2269 H 5,016 5,016 | R2.5.1 R12.12.31
19| WEHEh FE R ] H wift 984-1 H 630 630 | R2.5.1 R12.12.31
120 v ol T 1500 55 P ISR 132 H 1,548 1,548 [ R2.5.1 R12.12.31
121 fEEsh e 55 755 AR H 435 i 2,593 2,593 | R2.5.1 R12.12.31
122 WA P R T BT — & 151-1 H 2,946 2,946 | R2.5.1 R12.12.31
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123|  MgHEETH P AT 5 T 235-1 FH 1,475 1,475 [ R2.5.1 R12.12.31
124 v R 5E =3 295-1 H 2,460 2,460 | R2.5.1 R12.12.31
125|  MgHEETH P AT B AL 345 H 1,589 1,589 [ R2.5.1 R12.12.31
126 v IR 5E AL 353-1 H 1,660 1,660 [ R2.5.1 R12.12.31
127|  WEHEETH P AT 5 AL 366-1 H 2,945 2,945 | R2.5.1 R12.12.31
128 WA P TR T R N 491 H 1,233 1,233 [ R2.5.1 R12.12.31
129| Mg i 1 T 65 RF 664-1 HH 1,010 1,010 | R2.5.1 R12.12.31

6/6 =




